B EF E
Z£18[10F18B(L)]

BP9 8:00
MIIXBITHEEHE 920
(57853
=R 7 A =R W | BERB | BERT | ROV FEHARE | AR
10:00 “# F 100mH T iE
%5 110mH I
¥ 400m -
CEs 400m R
+#F 4 X 100mR -
%5 4 X 100mR T iE
+# F 1500m i
5 1500m i
+# F 200m T iE
CER 200m R
ESen 100mH i
% ¥ 110mH i
“F 200m i
% ¥ 200m i
“F 800m i
CE3 800m T
*F 4 X 100mR i
BT 4 X 100mR i
“«F 5000m i
% ¥ 5000m i
“F 4 X 400mR ¥
¥ ¥ 4 X 400mR F %
ET 5
{ Bk BB w57 3% )
55 FE 5 e K BARW | BERT | Fmi)y EE3
10:00 *F %2k B/ —v
“F S 18 Bk A
BF 5k B/ —v
BT & 18 Bk R—2A
ET 5
(4380 3 )
W 7] A R BARWL | BERT | %oy CE3
10:30 % ¥ B AR A —
%7 EERE AT —2
CEs I AT —2
%7 U AT
ET 5
BFT 17:30




B EF E
Z£28[10A198B(B)]

Fl P9 8:00
ML BEITHEEHE 920

(o753 )
B P &7 4] 77K iR 8 BEB 4 BETT RIT7/RHEH KM A
10:00 ESSR 400mH TR
%t 400mH TR
Leien 5000mW R
5 100m TR
%t 100m TR
5 400m R
%t 400m R
ESen 3000mSC R
Leien 3000mSC R
%t 100m ERB
ESSR 800m R
e 800m i
ESeh 400mH R
ieh 400mH R
ESeh 100m R
5 ¥ 100m R
£l 10000m R
ieh 10000m R
ESeh 4 X 400mR R
e 4 X 400mR R
BT TE
(2K 28 e 4% ]
B P &7 12 B A RERWL | BEKT )T %
10:00 ESeR = Rk R—A
e & &k BV —~
%t =Rk m—A
ESon i Bk BV —~
BT TE
(A% 38 e 4% ]
B Fe & 7 (=4E] A RERWL | BEKT EH)7 %
10:00 %+ Ny —I A —
ESen N A=V
ieh M8 A=
ESen ki A —v
BT TE

BFY 17:30




